
Beispielberechnung für die Wahl der stellv. Landräte nach d'Hondt 
(bei 56+1 Stimmberechtigten) 

 

 

Frak-
tion 

CDU SPD B 90 / 
GRÜNE 

FDP FWG AfD  Die  

Linken 

Piraten 

Mitglie
glie-
der 

25 + 1 14 6 3 3 2 2 1 

Teiler  Sitz 
Nr. 

 Sitz 
Nr. 

 Sitz 
Nr.  

 Sitz 
Nr. 

 Sitz 
Nr. 

 Sitz 
Nr. 

 Sitz 
Nr. 

 Sitz 

Nr. 

Sitz 
Nr. 

26 1 14 2 6 7 3  3  2  2  1  

2 13 3 7 5 3  1,5  1,5  1  1  0,5  

3 8,66 4 4,66  2  1  1  0,66  0,66  0,33  

4 6,5 6 3,5  1,5  0,75  0,75  0,5  0,5  0,25  

 


